F2-15HK I g B AR S il BY
BEFERAARICEY SR MEE
MBS ITEFER I E £ I = @ Fr F E M #E (FiA ) AfLAK I = # =
= v B s BihES—THitN _ pnes DIP.GX ¢ 300 L=217.5m, DIP.GX ¢ 150 L=13.0m.DIP.GX® 100 L=7.5m.
i*110051’? 7](351:% (E%ﬁ 5)@37}(%%:1&%1% (Fﬁﬁ%%ﬁﬁﬁ/]\—?ﬁiwi) ¥44,506,000H 'Xﬂﬂ.% tt,tJJ#GXqSSOO 2&\ 1:ttJ]#GX¢15O 15\ 1:ttJ]#GX¢1OO 1§
TEDHEIEE Hhis B BKSEAE Z Dt
S8 B - ISO . cm = Bl ME RO R "=
[R17& + EEI$ ERETE RIVTAT %:ﬁ:_c m e 4 LB = 47 (2 -y
I$£$§ I$EJZ$E ﬁﬁ; Eégg%;)?% ﬁEEIIEE ﬁ%%%ﬁ 5E§J t'liiﬁﬁg Iﬂiﬁ *EH*.”: lyiy\ /}&J\ *EI%{'?‘JLM?J\ E$ﬁ$lﬁ# EEIEE
(53 2 2 1 — 1 2 1 2 2 GRlm) GRi =) — 17 10.000
[ {fi#& LA D SR (ifE R )
TEDHEIEE Hhis B BKSEAE Zhith
ARLE EiE e BBRIE 1SO EBRIE [R50 T47| FET | wmie so w e | o0 e e i m & & ME = e
TEE TE/E ey ;5922;%‘ HHIEE EEe Z g KRR BRiEE-fE4 | BHK-EK |BRELELAS | REB4EEE | BHIER
REEEHKASH 2 1 1 — 1 1 0 0 0 0 0 — 10
INRES A=A 2 0 1 — 1 1 0 0 1 0 0 — 10
EXfif=E (R 10.000
[ &SR]
AALIERE (Bith) EALBRERE (RIEEE) HAEMEA | A s % - =
AfLE (A EARL D 2 o | o2 mER (B) () 00 (8) | () 100,000,000 EALE FHRBREORR
K 4 2 R £ A B
“fM & A H
S & A A2
AL E BT (BithE) ZES (EHESH@IE) X1 ME S, FHEEIS/NMEMIZRIERAALEMETERT
AT {E X2:MER=HBR/RafR) X (NEADHR)




